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(oéue on Oct.20) .

St . No. 1,2
Sect.3b, Mo .15
Sect . (08 , MNo-€
Sect . %, No.|
Show thot
(0) Loy (-e1)= 1~ (h Ly (1-9) =2 la2 = 1.
No.2 SRy ot

Ca)_ba_e =| 4w (h=o, £, T2 ,---);
ch) IDS 1= (nA)TT (n=o x],x2, )

(o) kg (1) = [n> +2(n+PWL (n=0 £[, 2, ).

Sect . 36, No.| Show  that

@ () = e (=T o) exMLJL) (n=0, %], %2, +);

() T TP LUt (n=0,t( 12 )

Sect. 108 , Ab . &

betprmine the inage of the dmain r>0. ~T< @ < n the 2 plone gm_alar_eao&;azf

ﬂphmsfama‘hm W= Fh(@ (k=0.01.2,3) , whre R&I(D ore tﬂz,'hwr bronchen eﬁé X

iven by cquation (D, Sec. 102 when n=1 e thee Lmno/feag% ofdcemme

e frurth roh o 5




